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omplete missing numberr

caleulations
25 =30

+ 27 =56
Is the answer 56 cortect? Is the answer 30 cortrect?
Why can't we be sure? Why canf we be sure?
How could we work out which ~ [How could we work out which
number o put in the gaf number to put in the gap
for the duestion o be correct?  [for the question fo be cortect’




omplete missing numberr

caleulations
203 - = 153

78 - = 56
Is the answer 56 cortect? Is fthe answer 153 cotrect
Why can't we be sure? Why canf we be sure?
How could we work out which ~ [How could we work out which
number o put in the gaf number to put in the gap
for the question o be correct? [for the duestion fo be corte




omplete missing number o + 38 =92
ulafions
_ : . 1 - 43 = 127
Write and complefe These in your
bOOk Q 1NO 1065
38 + — 83 O T IUI|T—1IPD
249+ =10 9.84 - = 7
o M ol il I nQ1] ].O ].05 - — 59
305+ = 28¢ —
111172 _ a0
12/ + 1 = 8]_ o O
L 18 =54 12/180- | =89




omplete missing numberr

coy

ulations

Write and complefe these in your|

book. R At I
38 + = 83 ° 1Y ¥
249+ | =92
355+ __ =80
2TF =6 P

I 18 = 54

%)
Ll
i

-]

—_




